A,

x(t)

mX+cx+kx=0

mI




k o, _i . C
, —\/% [rad/s] f, =5 [Hz] = [s] = N
1)
e  %+2ox+0,°x=0 —
@y fn Tn é/
)
x = Aexp(4,t)+ Bexp(4,t) —
A,B A
A=—Cw, + gzwnz—wf:—wn(gi 4;2—1) -
@ ¢i-1 3)
£2-1<0 ¢ £*-1<0
£?7-1>0
I
L '\ Il
TRVEVATA A \W
VY ﬂ
- 4 v W
@) (b)
4] ELT)
A, i -1 a_B
. I I
r.“' ¢l I I; cF i
L m I '
o T T T
g e
mX+ X+ kx = f(t)
= X+2§a)n)'(+a)n2X=%f(t) _—
©) (2)
¢>0 t—> o 0




f(t)=F exp(jot)

w

x(t) = Xe'™*

X=jo- Xe!

X =—-w” - Xe!*

(5) < (— o’ +2w, - jo+ a)nz)- Xeit = = gl

2
- [ ozt
a)n a)n a)n k

m
1

3™

F/k F
8
@ -t
Xe 1-p"+2|¢p
) (7) X
@) e'’ =cosf + jsing
x(t)= X cosat + jX sin ot
x(t)
X(t) = cf(a)t)+ n(a)t)
X(t) = vé(@) +nlw)
p=2sxt)=Tan™ ZEZ;
ZX(t)
Oe X1 p=Tan -
Xal Xa - p2) +(2igpy (
X(t)= Fz/k - exp|j(wt + ¢)]
V-7 +(25)
(11) X/ Xy
B
e
B 1
¢ 0 B 1
B 1
90°

XstEF/k ﬂza)/a)n

()

20
1- 2

11



f(t) (5)
t<0 f=0 x=0 X=0
t(t)
[ ]t)]-dt<oo
Flo)=[" f(t)-e’dt
F(w) t<0 f(t)=0
F(o)=[ f(t)-e“at

J.:‘ f(t)'e'd "dt<oo
f(t)-e™
F(c+ ja)):'[:[f(t).efct],e—jwtdt _ J‘: £(t)-e ket

Fs)=| f)-e*d=L[f(t)] L

(5) & mMX+cx+kx = f(t)

Lx]=X  L[x]=sX-x(0)=sX  L[%]=sL[x]-x(t)=s*X —s-x(0)-x(0)

L[fW]=F

12

13

(12)

14

s*X



(5)
(5)<> (m-s*+c-s+k)X =F

G
Gg)=— =X -1 : 1 i
Fm s®+20w s+,
G(s) s jw G(ja))
G(jw)= : = L 15
m-w,’ —(0/o,) +2j¢ /e, +1 1-B*+2jB
(15) In
_ K 2o
|G(jo)|= ]2/ — Tiﬂuml Piad
Jo-52) + (2icp) &
(0=AG(ja))=Tan1[—£§ﬂ2j il frtfe ke
N
[MJis+ [k Jix} = {0} [c]=0 16
[M]’[K] N Nx N
{x}={X}exp(jat) 17
L[%]=s*X =-0?X s=jo (16)
o’ M]+[K]fX}=0 18
{x}
|- w?[M]+[K]|=0 19
(19)
(19) o° N N N
o i=12:N
(18) N X Xy Xy
;
(—a’.z['\/']Jr[K]){X}:O 20
{X}I XXy X Xy W, W5y WDy



8}
(18) o, ¢}
b4
o’ Mg} =[Klg}, o Mg}, =[K]g}, 21
o} {9},
M] [K]
o g} MIig), =18} "[KIlg), o) M T, = 18} [Klig), 22
o, * 0, (22)
o} Mg}, =0 g} T[K]ig}, =0 (r=1) 23
(23) M] [K]
B MYl =m g} [ =k, (r=1~N) 24
(24) (21)
o.’m =k 25
m k 9},
m =1
(23)
N {x}
{x}= Zg’ 8} 26
.
2o Ik + o) KDk s )=t (1) 27
{f}=1{Fle" {x}={xJe™
b=Ll=1 3 |- Sorl) 28
égi = _G)ZReW &= Rejwt 29
(28)  (27)
R =) FY/(-o'm +K) 30
a F, b Xy
X, <& VK, ®
SR Eigeaica e N



Mix ) jw =, ]
S (x, il &.S (e4dx, &)

F“'thl X

] dx M (e, U

S(x,t) M (x,t) W(X,t)

0w
ot?

o%w
Adx
P ot?

— pAdX-

32

= S(X + dx,t) — S(x,t)

33

0
S(X’t) - _& M (X!t)
(32)

S(x+ dx,t) — S(x,t)= S(x,t) + asg( D gy L azsii,t) B 4o S(xt) aS(x 0 g

2!

o’w 0
32 A— = —S(xt
(32) » ot?  ox (x.t)

34

2

o
(34) (33) (39) s M

o[ af_ o*w 02w
S S [ = Y
GX{ ax( asz} o
0w o*w
> + El v

o’'w 4 o0'w

+a =0 _ El
ot? ox* [“ 4\/;}

1
th =_M X,t 35
)=5 M)

=0 E,I const

36

(36)



Timoshenko

e
= X
N

Lal

(@

0 ~tané W
oy M
ox El

dw/ox  (35) 0*w/ox?
Y (b)
oW/ Ox
ow _
7_6x 14
kS
Gy=—
4 A
02w
32)=
(32) =
02w
=
ot?
o*w
=
ot?
2
PN Aaw
ot?
- 0°w
P ot?
02w
e A
a ot?

| - 154 £
5
(b
OW/OX cf. 0
(b)
37
38
G
39
%] (33)
OX
(EI a_j @37)
OX OX
0 0 ( ow
el T Al A 38
6X{EI ax(ax 7)}} (38)
E[EI Q(a_w - k_sm (39)
oX ox\ ox GA
40




(40)

° (kS)_ k 9> oS _kp 9° 2w 3 9S_ Aazw
- . < P A B2 = pA~
OX GA GA ox? ox G ox* ot OX ot
o'w  KkpEl  9'w o°w
40)= El - . + pA =0 41
(40) x' G oo e
oM . 2
—o=peld=p v
(33)
oM %
— =-S+pl e 42
(32) = pW_Of M2y
ot o ox P e
o°w 0 o (o*w kp o°w 0% (ow kS
T L . L. +p|—2(———)
ot OX ox\ ox*> G ot? ot“\ox GA
o°w o'w  kpEl  0*w o'w  kp?l o'w
& A =- + . + - .
ot? ox* G ootz U oaxat? G ot
o’w El o'w kol d'w kBl 3'w 1 d'w
= >t s 2 A Au2Aar?
ot PA  OX GA at* GA ox%t A ox“ot
62W 26W gK? o'w ., 0w
“—+¢,°K -K?@L+e&' =0 43
oxt c,? ot ( )axzat2
\F \f ’———2k(1+u) const
w(x,t) = X(X)-T(t) 44
(36)
o°T o' X
X—+a'T—=0
ot X
X(4) TN .
- _ - 45
X a’T P
t X #
(45) t

£ = const

10



X(x)=C,e”* +C,e"* +C,e/* +C,e*

X® _piX =0
T"+(ep )T =0

T(t)=C,e* +Cee™

(2= (@sY)

X(x) =a, sin fX+ a, cos fx + a, sinh X+ a, cosh fx
T(t) = Csin(af)*t + D cos(ef)’t

a
=
D—Z!-'_'-.,
x=0 X:O,d—xzo
dt
2 3
o EX_o X
dx dx

X'(x) = B{a, cospx—a, sin px+ a, cosh fx + a, sinh fx}
X"(x)= B*{~a,sin fx— a, cos fx + a, sinh fx+ a, cosh fx}
X"(x)= B°{~ a, cos px+ a, sin fx+ a, cosh fx + a, sinh fx}

a,+a, =0
a,+a,=0

—a,Sin Bl —a,cospl +a,sinh gl +a, cosh gl =0
—a,Cospl +a,sin Bl +a,cosh fl +a,sinh ¢ =0

(56),(57) (54),(55)

(56)<  a,(sinp¢+sinhBl)+a,(cospl +cosh fr)=0
(57) = a,(cos B¢ + cosh )+ a,(—sin gt +sinh g¢) =0

(56),(57)

11

C,D

46
a7

48
49

50
51

52

53

54
55
56
57

56
57



snpl+sinh gl cospl+coshpl | a, | |0
cospl+cosh B —sinpl+sinhpl|la, | |0

NEK
a, 0
sinpl+sinh gt cos Sl + cosh B¢
cospfl+cosh Bl —sin Bl +sinh gl

< (sinpr+sinh gr)-sin B¢ +sinh g¢)—(cos ¢ + cosh fr)* =0
& —sin® Bl +sinh? Bl —cos® B¢ — 2cos B¢ - cosh B —cosh? 0 =0
N —(cos2 ,B£+sin2,Bﬁ)—(coshz,Bﬁ—sinhz,b’ﬁ)—ZCosﬂﬁ-coshﬂ€ =0
S 1+cospl-coshpl =0 58
(58)
B, =1.8751
B,l = 4.6941
B, =7.8548
B¢ =10.9955
Sl =14.1372
10 f(x)=1+cosp¢ -cosh B¢
B
(54) (57) 10
cos ¢ + cosh f¢ cos 3¢ + cosh f3¢
a, = ﬂ - p a; =—a a4:_32:__ﬂ - p
sin gl —sinh B¢ sin gl —sinh ¢
a (50)
. cos ¢ + cosh B¢ . cos 3¢ + cosh f¢
X(x) =a,sinpx+ cosfx—a, sinh fx — cosh
() =2, sin x alsin,b’f—sinh,b’f px-a, Px alsin,b’ﬁ—sinhﬂﬁ px
. . cos ¢ + cosh f¢
X(X) =a,49n px—sinh px+ COS /X — cosh 59
XK ai{ presinh px+- o O ﬂx)}
Xinae = X(€)
X = al{sin/%—sinh/%+ Z):gﬁt;cfh]ﬂﬁj (cos,Bf—coshﬁf)}
_ sinzﬂE—ZSin,stinh,Bersinh,sz+cosz,8£—coshzﬁ£
% sin g —sinh ¢ sin ¢ —sinh ¢
__ [—2sinprsinh e
% sin gt —sinh ¢

12



X()= X/ X
X(X):_l{sinﬂf—sinhﬂz (sin,Bx—sinh,Bx)+Cosﬂ€+comﬂ£(cosﬁ><—cos}1,8x)}

2| Snpglsinh ge sin gsinh gt
60
0< px<1
(51)
2 2 2 EI
= < = — 61
o =a’f =%
(60)
(61)
°
2
o, :(@] & X = 0.774¢
l PA
°
2
W, = (@j E x=0.500¢ x=0.868/
1 PA

il B4 Ul min 4 B84 T minh{4 B34]{cosl4 8R4 x)-cosh{s BE4-R)1I-2 —r,f' w7 !L‘iiu;l:-n'mfil' BSS]"sinh(7 B55)) o 7 BS5"x)-cosh( 7 U6 x}K-2 —K
f

aa | og fﬁ
os | =1 JH{I.; w\ IIII.,' 1
o [ o4 J—
/ \ /
az / { Rz} F \
. # \\ 'Illl
a- i | e
B \ /
n, 'l," .lII
] oy ad I}
by 8 X 7
e \\___f'/f e HMH—-’;
1.8 i i i i 08 - i i i i 1
o 1.2 0.4 o 0.8 1 [ 0.2 | 0.E 0.B 1
(@) (b)
11

13



x=0, ¢ 62

(50),(53)
a,—-a, =0
a—-a;=0
—a,Sin Bl —a, cospl +a,sinh gl +a, cosh ¢ =0
—a,Ccospl +a,sin Bl +a,cosh fl+a,sinh gl =0
(65),(66) (63),(64)
(65)<=  a(sinpgr—sinhpr)+a,(cospl —cosh g)=0
(66) = a,(— cos B¢ + cosh )+ a,(sin g + sinh g¢) = 0
(65)',(66) 0

63
64
65
66

65
66 ’

snpl—sinh ¢ cospl —cosh gl 0
—cospl+cosh gl sin Bl +sinh gl
(sin B¢ +sinh gt )sin B¢ —sinh ¢)+ (cos B¢ — cosh f¢)* = 0
sin® B¢ —sinh? B¢ + cos® B¢ —2cos B¢ - cosh B¢ + cosh® Bl =0
(0032 [l +sin? ﬂ€)+(cosh2 Sl —sinh? ﬂﬁ)— 2cosfl-cosh ¢ =0
1-cospl-coshpl =0

(N

67

(67)
Bl = 4.7300
B0 =7.8532
B, =10.9956
B, =14.1372
p.l=17.2788

12 f(x)=1-cospt-cosh B/

al

12
(63) (66)
_ cospl —cosh gl B _, _cos Bl +cosh gl
%= sin B¢ +sinh ¢ A %A & sin B¢ —sinh B¢
a (50)

. cos ¢ — cosh g/ : cos ¢ — cosh g/
X(X) = h
(X)=a,snpx+a Sin §i £ sinh 1 cospx+a, sinh X+ a, Sin ji £ sinh co

3 : . cos f¢ —cosh f¢
= X(x)_ai{sn,b’x+smh,6x+ Sn B +sinh 41 (cos,[i‘x+cosh,6x)}

sh

68

14



X e = X(0) = X(¢)
, COS ¢ —cosh ¢

{

max = 2a1 H H
sin B¢ +sinh g¢
X(X)= X/ X o
l1{sinpgl+sinhpgl . .
X(X)== sin fx+ sinh £X)+ cos fx + cosh 69
9 2 | cos ¢ —cosh ,BE( px ﬁx) px 'BX}
(51)
; :azﬂizzﬁiz ﬂ 70
V PA
(69)
(70)
°
2
®, = (@j /ﬂ x=0.132¢ x=0.500¢ x=0.868/
l PA
°
2
0y = (%j B x=0.094/ x=0.356¢/ x=0.644¢ x=0.906/
l PA
hi? 8441 Micos 7 #53}cosh(7 853} " (sin{? 837k|~zinh {7 B3 KIH-2 — | 6610 e63(10 GE)-cosn{1 0 59&| 1 {In{10 8BE-xj+ainh |10 BB&w] -2
=k ] o& et P
- .'"r- \‘. "f
o8 P o4 | ,.’I '. .*f \
a4 .". . | nzl (l/n' llllll IIII-' |
6.2 / { \ {
! § i [+ }! [}
- | / \ /
a8z '\'-_‘ ."I. e lll IIII'II'|I .'lll Il'l
" I.' 1 II|
o4t f e \ /
as ! L} | o} ||'II "-LNLI
.08 ."I oa ||
{
-1 L i i i i | = | 1 i i
0 0.2 o4 08 08 1 0 0.2 04 08
(a) (b)
13
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14

5mm
1
311.5mm
21.5mm
0.8mm
14
O
Hz
5mm
30 mm
mm 180
mm
O
15
FFT

16



No.l 11

i
A A e b e e T T T4

D MAEE 7T T

e N
15
O
No.l1 11
90°
180°
No.

17

20

No.1 No.2
361.2mm 500mm
37.4mm 31.9mm
9.5mm 29.9mm
+



16 17
[Hz]
65
415
116
2
[mm] [mm] [V] [V] /

5 3065 | 09839 4.0 — )
35 2765 | 0.8876 — 12.05 10.56
65 2465 | 0.7913 — 10.25 0.06
95 2165 | 0.6950 — 150 2038
125 1865 | 05987 — 2265 Z0.66
155 1565 | 05024 — 3.10 20.78
170 1415 | 04543 — Z3.00 20.75
185 1265 | 0.4061 — Z3.00 20.75
215 965 0310 — 22.20 Z0.55
245 665 0213 — 150 20.38
275 365 0117 — Z0.50 20.13
300 115 | 00369 — 10.04 +0.01
309 25 0.0080 +0.14 +0.04

2
[mm] [mm] [V] [V] /

5 3065 | 0.0839 7108 — T1.0
35 2765 | 0.8876 — 1040 70.20
65 2465 | 0.7913 — Z0.80 Z0.41
95 2165 | 0.6950 — 176 Z0.89
125 1865 | 05987 — 20.95 Z0.48
155 1565 | 05024 — 20,04 20.02
185 1265 | 04061 — +0.90 10,46
215 965 0310 — +1.45 10.73
245 665 0213 — +1.05 10.63
275 365 0.117 — +0.55 1028
300 115 | 0.0369 — 10.02 10,01
309 25 | 00080 ~0.325 ~0.16

18



17

No.1 No.2
No.2
10
10 18 19
No.1 No.2
[Hz] [Hz]
375 450
1037.5 1212.5
2012.5 2300
3300 3687.5
12125 [Hz 10 2300.0 [HZ]

A [dB] [deg] B | B/Bna A [dB] [deg] B | B/B
1 36.56 80.9 67.30 1.000 1 36.36 -101.5 65.77 1.000
2 32.25 79.3 40.97 0.6088 2 28.97 -105.7 28.09 0.4270
3 24.31 79.9 16.42 0.2441 3 10.59 83.3 3.385 0.05146
4 20.20 -96.3 10.23 0.1520 4 30.05 82.6 31.81 0.4836
5 28.91 -97.6 27.89 0.4145 5 33.11 79.5 45.24 0.6878
6 32.64 -98.8 42.85 0.6368 6 32.41 77.6 41.73 0.6346
7 33.68 -99.7 48.31 0.7178 7 29.88 81.9 31.19 0.4742
8 32.87 -98.9 44.00 0.6539 8 9.78 82.3 3.08 0.0469
9 30.49 -98.9 33.46 0.4971 9 28.20 -99.2 25.70 0.3908
10 24.94 -97.8 17.66 0.2624 10 32.27 -97.6 41.07 0.6244
11 -0.93 -111.2 0.90 0.013 11 33.75 -100.9 48.70 0.7404

19



19

16 19
6AIl-4V p 4400[kg/m3]
E=106[GPa]
(61)
_ 2p2  p2 ﬂ
o =a’f"=p WlpA
2
(o AR -
2r 27\ pA
(58)

PL=1875  B0=469  B,0=7855

_i(l.S?sz B _i(4.694j2 I _i(7.855j2 El
A PA 227\ 4 PA ) A4 PA

20



fof,if,=p2:p":p>=1 6267 17.55

p.18
EZEZGA Ez%zlg
f, 65 f, 65
(72)
1, _64-63_ o & _18-18_ o
f, 6.3 f, 18
21.5[mm)] h=0.8[mm] ¢ =311.5[mm]
A=bh=215x08=17.2 [mmZ]
3 3
| — bh _ 21.5x0.8 _0.917 [mm]
12 12
(711)
2 2
(= f |B_A \/106x 097, 10° = 0.1895° [H2]
2r 27 \| pA 27 \4400x17.2
(58) B Ps
5 =287 _6019 p, = % 1507 B, = g -2522  [wm]

f, =0.189x6.019° = 6.84[Hz] f, =429[Hz] f, =120[Hz]
p.18
f c JE/p

JE/p =+/206x10°/7900 = 5.11x10° [moss]
JE/p = /106x10°/4400 = 4.91x10° [mos/s]

20, 21
Microsoft Excel
(73) 11 12

21



0.8

0.6

0.4

0.2

-0.2

-04

-0.6

-0.8

0.8
0.6
0.4

0.2

-02
-04
-06

-0.8
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!2\\\ J /
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SN ///
X,’% é

/]

P N //
/ N //
e AN /

\\!\

AN

22

L 4
0 0.1 0.2 0.3 0.4 05 0.6 0.7 0.8 0.9
21




11 12

098 1 0923 1 100 8.3 098 | 0877 | 1.00 14
089 | 0466 | 056 21

0.89 0.140 0.20 44
079 | 0033 | 006 89
570 33 038 > 079 | -0.434 | -041 6.6
060 | -0502 | 066 | 12 070 | -0658 | -089 1 35
050 | -0713 | 078 | 88 060 | -0469 | -048 | 26
045 | -0.718 | -0.75 4.4 0.50 0006 | -0.02 420
041 | -0689 | -0.75 8.8 041 0.501 0.46 9.0
031 | -0546 | -055 0.79 0.31 0.751 0.73 2.2
0.21 -0.332 | -0.38 13 0.21 0.644 0.63 18
012 | -0123 | -013 16 012 0.294 0.28 5.4
004 | -0014 | o001 170 0.04 0.038 0.01 73
0.008_| -0.001_|_ 0.04 5100 0.01 0002 | -016 | 8600

1 12
(73)
0
11 12
102
21
x/¢ =0.70
x/¢ =1.0
x/¢=1
5mm X/ =0.984
X/t =0

23



r =0.9991

r =0.990
X/t =0.04 x/¢=0.78 x/¢ =050 x/¢=1.0
x/( =005 x/{=050 x//=0.85 x/(=028 x/(=070 x/{=10
(60)
x/¢=0 x/¢=0.783 x/0=0471 x/t=10
x/0=0 x/(=0504 x/¢=0.868 x/0=0291 x/(=0692 x/{=10

24



(67)

BL=4730  B,0=7853  B,(=10996 B, =14.137

(72)
foof, o f,=8:8":8":8°=1 2576 5404 8933

p.19
L No.1
h:%;l?ﬁ? £=%=5.367 k:@:S,SOO
f, f, 375 f, 375
2767 — 2.576
f/f &I 2900 7415 [%
2/ Ty 2.576 %]
5.404 — 5.367
f./f = 2 2P 0.6894 [%
o/ Ty 5367 ]
8.933-8.800
f /f = ST BT _1.489 [%
o/ By 8.933 %]
L No.2
f, 12125 ,09, f_28000_ ..., f._36875_ 4.,
f, 450.0 f, 4500 f,  450.0
2.694 - 2.576
f/f _ 9T 490 4581 [%
o/ s 2576 ]
5.367 —5.111
f./f _ 290079 4770 %
o/ fi 5.367 %]
8.933-8.194
f /f 20T 0 8273 [%
e 8.033 %]
No.1 f,/f, f,/f,  f,/f,
fZ/ fl
(73)
No.2
No.1 No.2
No.2 f,/f :

25



L 2

SS400 E=206 [GPa] p 7900 [kg/m3]

2
Nol -+ ﬂ:i\/ﬁx% «10° = 2.228 [m/s]
2r\ pA 27 V7900 12
2
No2 L LiJﬁxm Y 10° = 7.015 [m/s]
2r\ pA 27\ 7900 12

No.1

f, =382.3[Hz] f, =1053.0[Hz] f,=2064.5[Hz] f,=23413.2[H]

JE/p ~5.1x10°[mO5/s] f,
f, 2 f, 3 f, 4

No.2

f, =627.8[Hz] f, =1730.4[Hz] f, =3392.8[Hz] f, =5607.9[Hz]
No. 40 50
No.2
50 h/¢
0.1

E=130 [GPa] p 7800 [kg/m3]
1 [BEl 1 \/130 29.9°

- — = X
2r\ pA 27 V7800 12

x10°® =5.608 [m/s]

f,=461.7[Hz] f,=1272.6[Hz] f,=24950[Hz] f, =4124.1[Hz]

No.2 JE/p ~3.8x10°[MO5/s]
22, 23
Microsoft Excel
(73) 13 14

26



x/{=0094 x/(=0356 x/(=0644 x/(=0.906

x/(=0 x/{=0220 x/{=05 x/(=0780 x/¢=10

27

13 14
/| [%] /| [%]
1 0 1 1.00 0.000 1 0 -1 -1.00 0.000
2 0.05 0.608 0.61 0.141 2 0.05 -0.454 -0.43 5.86
3 0.1 0.227 0.24 7.30 3 0.1 0.052 0.05 1.03
4 0.15 -0.117 -0.15 294 4 0.15 0.442 0.48 9.51
5 0.2 -0.397 -0.41 4.34 5 0.2 0.643 0.69 6.99
6 0.25 -0.585 -0.64 8.90 6 0.25 0.621 0.63 2.16
7 0.3 -0.662 -0.72 8.42 7 0.3 0.397 047 19.5
8 0.35 -0.625 -0.65 4.70 8 0.35 0.044 0.05 5.73
9 04 -0.483 -0.50 291 9 0.4 -0.328 -0.39 19.2
10 0.45 -0.263 -0.26 0.146 10 0.45 -0.608 -0.62 2.75
11 0.5 0 -0.01 00 11 0.5 -0.711 -0.74 411
r =0.9992
r =0.9986
22 23 p.26
13 14
22 23
20
22 23
L 2
/(=013 x/¢=05 x/{=0.87 x/=0 x/(=03 x/(=07 x/¢=10
L 4
x/¢=0.095 x/¢=035 x//=065 x/¢=0.905
x/(=0 x/(=021 x/(=05 x/{=079 x/{=10
(69)
L 4
x/0=0132 x/¢(=05 x/¢=0.868
x/0=0 x/{=0308 x/{=0692 x/¢=10
L 4



0.8

0.6

04

0.2

-02

-04

-0.6

-0.8

0.8

0.6

04

0.2

-0.2

-04

-0.6

-0.8

N~
0 01 0.2 0.3 04 05 0.6 0.7 0.8 0.9
22
*
* °
0 01 0.2 0.3 04 05 0.6 0.7 0.8 0.9
23
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No.2
62W ) ) a4W SKZ 64W ) 64W
43 5 C K . _K 1 ' _
( )<:> atz + 0 a)(4 + COZ at4 ( & )—ax25t2
Co = E k- IZ €’=%E=2k(l+u)=const
P
k=15
w(x,t)
w(x,t) = X(x)- expliort) 24
(43)
4 2 2
(4’3)<:> _6()2)(4‘(:02}(2a >4(+8K2 a)4X+K2(1+g,)w28 )2(:0
ox Co OX
4 , 2 , )
= dz(+(l+f)w2d>2(+g—4-w4— Z)ZX:O
dX CO dX CO CO K
1+¢&' g’ 1
a C02 77_004 é,_COZKZ
4 2
ddxi( +5”2ZT>2(+(77W4—4“0)2)X =0 75
X(x)= X, -
L+ Ew?pB? +(7ya)4 —é’a)z)zo
ﬂz _ _§w2 i\/fza)4 —4(77&)4 _é/wz)
2
B
ﬂl:i\/‘f“’”#zw“—él(nw“—;wz).i
2 76
i :+\/—ng+¢52@4_4(”@4_@2)
P 2
(75)
X(X) = &, Sin B, x+ &, cos B, X+ a, sinh 8, + a, cosh /3,x 77
2.3.2
1-cosp,(-coshB,l =0 28
(78) B Bo En, &
@,
B
(78) i b, E&n &

29



No.2 52 (1)

$S400
E=110[GPa] p 7800[kg/m?] v 03
$S400
$S400
E=206 [GPa] p 7800 [kg/m3] v 0.3
(76) Prr e
4 +\/l.88><10‘7 x@? +/(1.88x107f x &* - 4(5.74x107° x 0* ~5.15x10* x 0? ) i
T 2
4 _ +\/—1.88><10‘7 x@® +1.88x107 f x * - 4(5.74x10 " x &* —5.15x10* x 2 )
2T 2
f(B,,,)=1—cosp,(-cosh 3,/
BB, w
o f(w)=1-cosp,l-cosh B,/ 79
f(w)=0 W
®, =3884.1[radls] @, =10419[rad/s] @, =19688[rad/s] o, =31132[rad/s]
f=w/2x
f, =618.2[Hz] f, =1658.3[Hz] f,=31334[Hz] f, = 4954.8[Hz]
52 (1) 15
15
15
f; [Hz] f, [Hz] f3 [HZ] f4 [HZ]
Euler-Bernoulli | 627.8 17304 | 33928 | 56079
Timoshenko 618.2 16583 | 31334 | 49548
1-(Timo/E B) W | 15 4.2 76 116
5.2 .
f, 16583 .00 fi 31384 o f._49548 ...
f, 618.2 f, 6182 f, 6182
£,/1, _2694-2882_ ) 17 (o)

2.682
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_5.111-5.069

f./f =0.829 [%
o/ s 5.069 %]
8.194 - 8.015
f,/f =" T _223 [%
o 8..015 %]
SS400
16 24
16
f./f; f./f; fo/f; f /1,
1 2.694 5.111 8.194
Euler-Bernoulli 1 2.756 5.404 8.933
Timoshenko 1 2.682 5.069 8.015
9
8 |
7 |
6
5 | ——
—=— Euler-Bernoulli
4 F Timoshenko
3
2 |
1 '\/
f1/f1 f2/f1 f3/f1 fa/f1
24
E=110[GPa] p 7800[kg/m3] v 03
17
17
17
f f, fs f,
Timoshenko [Hz] 454.6 12195 2304.3 3643.8
[Hz] 450.0 12125 2300.0 3687.5
[%] 1.01 0.574 0.187 1.20

31




E=110[GPa] p 7800[kg/m?] v 03

(77)
X (X) _ 1] Snpif+sinhfyf (sin B,x+sinh B,x)+ cos ,x + cosh f3,x 80
2 | cosp, ¢ —cosh g, 0
Bis B
®, =7662 [rad/s] p, =15.71 [rad/m] f, =15.04 [rad/m]
@, =14479 [rad/s] p,=21.99 [rad/m] f, =20.27 [rad/m]
25 26
25 26
25
25 26

32



— Euler-Bernoulli

1 ———— — Timoshenko

0.8 \

o | \ | /7N

—0:6 \ v

-08 r
-1
0 0.2 0.4 0.6 0.8
25
— Euler-Bernoulli
0.8 — Timoshenko |
/ \ \

ol / \ /

ol /

26
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Oomm

x=1.0¢ X =0.98/
1 2mm
No.2

2004

1993
1987

1986
1978
1997
S.Timoshenko 1959
1996
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